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Choose the correct answer from a ,b ,c or d.

1) This lunch box is ..................

a) my b) mine c) I d)me
DL have any perfume.

a) do b)doesn’t ¢) don’t d)ywas
3)lusethe............... to open the door.

a) tape b)key c)window d) soap
4)Canl............... you ? Sure.

a) help b) want c)go d) do
5) He watches videos............. night.

a) in b)on c)at d)or
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Choose the correct answer from a ,b ,c or d.
1) The cat sleeps on the

a- rug b- tube c- tune d- gum
2) e much are these?

a- Where b- What c-Why d- How
IDlcan’t................ my pen

a- give b- play c- find d- watch
4)yWeare .................. please , hurry up.

a-late b-early c-bad d-good
5- We can play during ................ at school

a- break b- room c- class d- aisle
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Choose the correct answer from a ,b ,c or d.
1) Red is my favourite .......................... .
a) book b) food c) colour d) subject
2) Whose glasses are ..................o.ovene. ?
a) those b) that c) their d) this
3) Let's c..ooven.... our lessons
a ) study b) studied ¢) studying d) studies
4) The birds .............. in the sky .
a) fly b) play c) kick d) watch
5) Aliis ..ol His arm hurts.

a) good b) happy c)sick d)hungry
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